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# j=_—b=_—c, a+c=2b+9 = 9.9 1. xz_yz_4y_4=?
3 4 B X =2xy+y° -4
4 4 5 3
A) — B)1 C)=— D)= E) = e _
)3 ) )5 )4 )4 A)xyZ B)x+y+2 C)x+y2
x—y+2 x—-y+2 x+y+2
D) x—y+2 ) x—-y+2
X+y+2 x—-y-2
12. x—l+1
a b :xzb—yzb_l_?
272n 93n+1 43)’1 821?—1 y= l — l x+ ¥
10. — . — =7 a b
36)’1—1 26n—3
a
A) a- B)—-1 C)ab-1 D)1 E) -1
A) 32 B) -31 C)-16  D)16 E)% ) a-1 )b )a ) )
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15 (7x-120

)323—17x

esitligini saglayan x sayilarinin toplami kagtir?
What is the sum of the number of x that provide the
equality?

A) 2;5 B) 2?4 Q) 3;3 D) 3;3 E) 3;7

4 1 3
a,b,cER+,a.b=;,a.c=§ ,b.c=z

ise agagidakilerden hangisi dogrudur?

which of the following is true?

A) c<b<a B) c<a<b

3

if a,b,ceIR{J',a.b:g,a.c:g ,b.c=; then

C)a<c<b

D) a<b<c E) b<a<c
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17. 8x+9

(2¢-3)

=1

2

esitsizligini saglayan tlim x
sayllarinin kiimesi nedir?

What is the set of all number of x that
provide the inequality?
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19. / & 2’ 2
x<y<l, u—\}xz—nyﬁvz =S5=x=17

¥
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21. = )= = 2 = 23. -
S(B)—6x, s(BﬁA )—9, s(AﬁB)—x = x=7 f(Z_x+2)=§_4, g(x)=xT5 - (flog)(3)=‘7
A)3 B) 6 C)9 D) 11 E) 20
A) 6 B) 8 C)9 D)11  E)12
22. A={x:lx+1/22 x€R]} 24. r(x)=2"f(x-D), D=1 = [(50)=7

= s(ANB)=?
B={x:|lx—1|<5, x€Z}

A) 21220 B) 21222 C) 21223 D) 21224 E) 21225
A)4 B)5 C)6 D)7 E)8
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25.

26.
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(1) wxtgl) =50 (1))

A1

Px+D=3x"-2x+6 = P(Q2x-3)

A) 6 B) 22 C) 152

x+2

D) 192

E)214

27. p(x+3)+P(x+1)=2x>+8x+16 = P(3)=?

A) 14 B)12 C)8 D)6 E)4
28. y
Paraboliin denklemi
y=-x"+mx+3 tlr,
3
|b—a|=4, |b|>|a| = m="7
a o b i

Equation of given parabola is
y=—x"+mx+3
|b—a|=4, |b|>|a| = m="7

A) -4 B)-3 C)-2 D)1 E)2

Sonraki Sayfaya Geciniz >
Next Page




SAKARYA SAUYOS - 2020

UNIVERSITESI

30.

z z

—Re|L|=?
ZZ

z =3+2i, z,=1-4i = ]m(

L
Zy

g(x)=-x*+bx+c

JS(xX) ve g(x) parabol = g(x)=7?

If f(x) and g(x) are parabolas = g(x)=?

A) =x*-2x+4  B) =x*+2x+4 C) -x"+2x+8

D) -x*-2x-8 E) -x*+2x—-4

, 142000
i"=-1 ;2020 _1+l-2021 =
A)5-i B)35+i C) 1%1 D)1-i E) 1+
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32 log,2=x", log, 7=y~ log, 49=7 34. e OEJ tany = log, 2 —esiny = ?
&) : -
\/10g5 (5 )10g5(l 0)
2 2
A 2y2 B) 2x2 C) 22 2 1
oyt +l oyt +l £+ A)log.2 B)log,5 C)log 5 D)E Ellog; 2
D) 2 1
R | 'y +1
35. flx)=—x"+ax"—5x+3, g(x)=3"+2
d
—(f+g)X1)=8 =
dx(f gD=8 —a
33. 7=_7
=2=x="7
3 A) -1 B)-2 C)o D)1 E)2

M) -3+310 B 3-v10 ©) log,(-3-+/10)

D) logT(—3+ 10) E) 1n(—1+\ﬁ)
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36. _xz—lé . 39. : ' Fb)
f(x)—zx_1 S=" [f(x)f(x)abc=54, fla)- f(b)=18 :'f(af?
A)-1 BYO O —— D E)1
3 2 1 1
A1 B2 CO— D-2 B-L
3 e gy Do
0 y? ] =0 x—1
A) 25 BI5  C)1 D)0 E)-5
40. =
ﬂl—xzdx=‘7
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41.

42.
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43, p
[4B//[EF
m(ABC) = 25° |4B|=38
m(DEF) = 140° |BC| =6
m(BCD) =80° A loc|=243
m({CDE)=a =7
= |OD| =?
B
A) 65° B)70° C)75° D)80° E)85°
A2 B2 O2/5 D4 B2
A 44. 0 D € JH G
Er 54 S, &y
IERIENE / y 1 !
2r 2r
|BD| -9, |DC| — 53
Asagidaki siralamalardan hangisi dogrudur?
= A(ABD)="?
Which of the following sortings is correct?
A) S,<S5,<S, B)S,<S5;<S,  C)S5,<5,<S,
S D 22
D) 5,<S5;<S, E) S;<5,<S,
A)S B) 10 C)12 D) 15 E)18

Sonraki Sayfaya Geciniz
Next Page
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45. A 47. R
ABCDE bir besgen,
ABF bir egkenar licgendir.
E [}
B .0 m(BCA)=25° G ABCDE is a regular
o pentagon and ABF is an
m(ABO)=a =" equilateral triangle.
25°
- \ m(BFC)=a="?
A)55° B)60° C)65° D)70° E)75° A) 66° B)65° (C)64° D)63° E)62°
46.
ABCD bir karedir
m(DEH) = m(GFB)
A(EFGH)=?
48. B
ABCD is a square «
m(DEH) = m(GFB) ABCD paralelkenar
calculate A(EFGH) 5 |EF| =2, |FG =6 = x=17
[}
ABCD is a paralellogram
21 23 25 27 29 [5F]=2, [FGl=6 = x=
A) 21 £3 29 2/ 47
) 5 B) > C)2 D)2 E)2
G
AXN2 B42 2 D)3 E)4

-12-
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49. y 50.

D = (-8, 8)

Alxy) y)=x+y="

A= (-6, 2)

ABCD bir kare ve |AE| = 3|EC| ise

|EB| ‘nin uzunlugu nedir?

If ABCD is a square and |AE| = 3|EC| then

what is the lenght of the |EB| ?

AsS  BW2 25 D)3 BN5

Sonraki Sayfaya Geginiz >
Next Page
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53. Asagidaki seklin katlanmasiyla olusabilecek kiip
hangisidir?

Which cube is the folded form of the following shape?

O|o
o|(Od
O[O
OO

o\|d
O[O
i
o\|d

-14 -
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58.

56. —‘

L

Asadidaki sekillerden hangisi yukaridaki sekille 6zdestir?

Which shape below is identical to the shape above?

A)@ B)% o) CZL\F
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57. .

A

Yukaridaki sekil saat ydniinde 225 derece ddndlrllirse
asagidakilerden hangisi elde edilir?

Which of the following is the shape above rotated by 225

7

ABC

ABC

ABC ~ A+B=?
. ABC

1704

A) db B)
<O

e

58.

59.

Sekilde kag adet kibrit (1 birim uzunlugunda) vardir?

How many matches (1 unit long) are there in that figure ?

Sonraki Sayfaya Geciniz >
Next Page

-15 -




SAKARYA SAUYOS - 2020
UNIVERSITESI
60. 62.
1. 2. 3. 4. 5.
2.7) (3,10) (4,12) (6,17)
Number of
1 — SE — Isninsa;l;s(i = 1y2]1314)5
Number of angl
Azlrza;:s? = 01113167
g | B 11 ©

63.

+
) o
O
>

= 4A=7?

>
5>
%
O

O
<
o
*

61. Asagidaki aritmetik diziye gére a,=?

According to following arithmetic sequence, calculate aj

-S| .. .!.].150
l l
aq a2

-16 -
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64. 66.
I 2. 0. & ¢
i i AA'DDD a " o
JAN :
* * A b
Il g
ok tpa
N, 0ooog ? £ d
—
A c® c.d b
d
A B C D E
) xxd ) xan ) okl J<BAD B} woexh Yukaridaki sekilde a,b,c ve d birer pozitif tamsayiyi
gbstermektedir. Asagidaki verilen gekle gére B-A=?
a, b, c and d denote a positive integer in the above figure.
According to the following figure B-A=?
A
6
6
36 B 3/4
65. ]
A ® <> o A) 30 B) 36 C)-12 D) 15 E)-9
® o @ O
5123 1765 2671
0 O ® A ¢
O @® o <> 3256 6537
o § A @
O ® o {§ =?
A) 1765 B)5123 C)6537 D)3256 E)2671
Sonraki Sayfaya Gecini
onraki Say ay’\:liexfgar:;

-17 -
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67. 2, 6, 12, x 42, x=7 69, @ ml: [@][x][x]
[x|*]e] [@Dx [x[@lx ?
A4 B)2D  C)24 D)34  E) 4O [xelx] [x[x]e [elx]x]
[x][x][®] [*][x][@] [x][x][@]
Al [x[x]e] B [He]x] ©)[e]*]x]
[x][@][*] [*][@][*] [x][@][*]
B0 [][][%]
D) [%]*]® E) [xx][e]
[x][@][*] [@][x][*]
70. Hangisi farkhdir?
&8, . . Which one is different?
] ] \
\\ /,-’I 2
\ X
"B =AY
= O 6
. l
|
C) }' D) .
/,;' e
El ////
i \\\
4 _
>4
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71. Hangisi farklidir? 74. | | " W
Which one is different?
Al &= ?
A [ A ]
A) @ B) ® ©)
D E
5 1 A o Gl A ) |<q| ) | <O
&
75. | Il 1] \% \Y%
72. ASA=301301
nz=nmnn = Afl=?
A) B) C)
M)A BYAAS C) 2T DA  E)>31 & . g &
KN SN
76.
3| 5 7| 4 4 | 6 y | 6
2 | 30 3 | 84 X | 72 3 54
X+y=7?
A) 4 B)6 C)8 D) 10 E)12
73. T = f)
A) |: B) C) ‘
D) E) | |
Sonraki Sayfay’\:lie()i:gar;iz
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A
B
Sekilde birim kiiplin agilimi verilmigtir. Tekrardan
klip haline getirildiginde A ve B noktalar arasindaki
uzaklk kag¢ birimdir?
An expansion of a unit cube is given in the figure.
When by folding back into a cube, what is the
distance of A and B?
Verilen sekilde kag tane kare vardir?
How many squares are there in the given figure? AL B) 1 C)2 D) J3 E) J5
A)14 B) 18 )22 D) 24 E) 28
78.
80. Verilen kiiplin agilimi
A~ asagidakilerden
hangisidir?

M S Which one of the
following is the expension
of the cube?

Verilen sekle sagdan bakildiginda, gdriinen sekil
asagidakilerden hangisidir?
Looking at the figure given from the right, What is _
the figure that appears? K|Y | G | T[(M]|K
- - AlT]s B) k| Y C) 5
M S Y
A) 3) © lv] [
[V | [ |
] [ ] D) [m|s E) ¥
] ] G M[s|T
C) |_- D) —
K G
N |
Test Bitti. Cevaplannizi kontrol ediniz.
| | End ofthe?est.CheckYourAnswers.I
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